«Beispielszenario Hochzeit
’ Raumvariante: Saal 1 & 2
- Sitzplatze: 142

RAHEHER_ Stiegenabgang ‘IJL"[\ — %@D
Toiletten /Garderobe . KUCHE S
e e ug@
SF;:) le L _I...,.. . Kiihizell
FOYER e iy - o T
a=161,37m*
]
i LT e e e e 7 8
! H I | £
I O T
! [] il S
O :: - =
: ] SAAL 1 I l ! \:E:jﬁ
Il [y
| ] I [ S - —H
I ] [Ty rr ey I| : I =
. i SAAL 2 o Se
i o T i z“l
I
4 | | .
- | Il LAGER
l ] O
o O I
: N O
| I
| |
1 \ |
% | OBERGESCHOSS —
\, | KNUSPERSTUBE ) pad
AN : 0=82,93m® /i ,
(O / K
%?-\ lL / S
N, Z
%&\'\.\ y . // /// \
.\‘\. /// Dachaufbau FDO3 } / p )Xf SN /{
\, // // // y;
\ i -
Ny /
\, 7 s
\ s




